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fBIREE 7 (Assignment operators )

FBIGEE IR (=) » HAER B EE A 3 EE =
EFEIRAG EE LT B8 P EE TT o ATLL » LUFRGHE sum=a+b /2%
a+b HY{EFEIRAG sum °

int sum = 0,a = 3,b = 5;
sum = a + b;

BB R SRR AN R - PR LA —E B 0 &
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8 = x ;
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L

x = 8 ;
T HTE#ER
LU /& — 2L fiy B8 Sl £ I8 SR AR



int a=5,b=4;

printf ("$d\n",a+b);//9
printf ("$d\n",a-b);//1
printf ("$d\n",a*b);//20
printf ("%d\n",a/b);//1
printf ("%d\n",a%b);//1
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int x=5, y=4;

double xf=5,yf=4;

printf ("$d\n",x/y); //1
printf ("$f\n",xf/y);//1.25
printf ("$f\n",x/yf);//1.25
printf ("$f\n",x£/y£);//1.25

TR TR BN BRI I T

U v B S BR T DA — {16 B B o e 1 BB B 7 o ol -
FE TR 2SR 152 HSE EG I BT o e i 1,5,2 — {8
5o HOGHEME

int a=152;

int al=152/100;//1&4x&

int a2=(152-al1*100)/10;//5 4L $
int a3=a %10;//f84L#&
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while(1) {//AEWER FAF~ ¥
b=alil;
i=(i+1) %4;
}
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ARHT (++) BRIk (--) & C 3 SR ANEE 1 » Ik —(FER 1
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a=1l;++a;printf ("%d\n",a); //2
EeEE T REE T % 0 Al
a=1;a++;printf ("%d\n",a);; //2

JRHI EANG ++a B a++ R a (BN 1 AEHL[E] a

K77 SR

EHEEENES CEEMWEEEE FHAELLE +-%/%  #
Fras @ B A EE 1 B4 - BR T ERSE S - AL A n] R B
e ? B2 e Z i HEUEREE B o F40 > LAY pow() Bz AT &5

3HY2 KT

a = pow(3,2) 5 //include <math.h>

5 BT BRAR SR E L o FIJ {5 P B0ME R B K =N sqrtO) B =X o 40
LU ROt Zat & 9 BIFAIRAE -

x=sqgrt (9) ; //include<math.h>

{ELLL B B BB AT math.h > P DA LR ASE BE A (56 FH

include <math.h>
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1. AL FEE SR C IR R ~ BT - BT R -
8 (% 51~ (Relational Operators)

B8 (R 8 L 1~ AR £ EL i (Comparison) SEE 1 » FRE KL [H]
IR/ INEEEE > PLER A5 SR T 1S 2] int ZURERY 1(true) B O(false) > [
K& CEEEPRIRMRER 159 o Hrp S BT [L R 7 57 Bl H
CihE AR AR - FEEEE > Bl > PR a B b

e A o
if (a == b) ;

e R RERE TS

ERF EE BrlER ==
< NS 6 BEZEG
> KB 6 BLES
<= INBREERR 6 BEZEG
>= NS IS 6 BLES
== EFR 7 BEESL
1= TER 7 BEES
filan -

int a=8,b=5;

printf ("%d\n",a>b);//1
printf ("$d\n",a==b);//0
printf ("%d\n",a>=b);//1
printf ("%d\n",a<=b);//0
printf ("$d\n",a!=b);//1

.....................

1 FEF L B EURS C ERBE AR ~ BT BRI TG R -
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#include <stdio.h>
#include <stdlib.h>
int main(int argc, char *argvl([]) {
int a=8,b=5;
printf ( “¢d\n” ,a=b);
printf ( “ed\n” ,a=>b) ;
printf ( “¢d\n” ,a=<b) ;
printf( “¢d\n” ,a=!Db);
return 0;

HEH ¥ H 1 (Logical Operators)

i (] — {38 R X B[R] IR A7 AE W 1 LR BR AR S 15 >
118 B 15 2 L~ oz T 28 {6 FH) Sl i o B s - oAl > SRR S A
HAFEn KRS 40 » B — 2 158 5k (A1 IRF & 45 W {18 B AR 5 =0 > L IRe mk
S i E - - CHY B EE A H S %€ not I'1J ~ ###H and
F&&J ~ 5akliE or T || 41 FFEATS -

EBEF ER B5EIER Eat
! HEESTEESR 2 BEEAL
&& #EEE and 1 BE 11 BLESL
I ¥R or \BE 12 BEES

HeHE 5 E not e Ttrued #HES [falsed Tfalsed ## 5% Ttrueds
i i and & W SR true » A5 R AIE true © HERESE false » HE
fEERAT -

E Ly FE2 HER
true true true
true false false
false true false
false false false
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wE e or s WS HEH — 45 true » VLS true » AR H
HAEE false » A B false » HEEFRAT :

Euy FE2 FEER
true true true
true false true
false true true
false false false

i -

int a=8,b=5,c=3;

printf ("&d\n", ! (a>b)) ;//0

printf ("%d\n", ! (a==b));//1
printf ("%d\n",a>b && b>c );//1
printf ("$d\n",a>b && b==c );//0
printf ("$d\n",a>b || b==c );//1
printf ("$d\n",a==b || b==c );//0

.....................

1o# A — B2 FlEx @S E 1<x<=6,if B #15C
P B A e (R I<x<=6 & BB FE 50 CiE § & int
x=3;printf("%d",x>1 && x<=6); B x=9;printf("%d",x>1 &&
X<=6);)

2. HAHHES PR x BREWAE x>3 or x<-2 , aRHEHARS C 35
SR

3. WA=ZAE=8K ab,c B =AENGRMETE » EMWE 25
ORI =33 » Ll C 35 F#oR ?

(7R - B8 2 R =3 BB 5 S & :atb> ¢ and

at+c> b and btc> a * AT LL EBUEREE ST CRE S
al bl cl "

4 EH—HERR - RIS R BRERE S-= 0  #

al bl

WS C ROR o T2 =0 # o AT RIE 2
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i o FiE VR B L fla 1 R AR A A SR GEE - > 1LY C Eﬁ?
FrAREE T > HIaNFE EETH & F F 8 A sum=sum+5 > M XGEF
JodlE L — 8 & HEIGER F += > B L E ot sum=sum+5 » HIA] &
A% sum + =5 NERE CFEEHHESHEIGEHEE 1

EEF EE BElER =T
= IBIRAS 14 BEEAL
+= MBI EBIEIRAE 14 BEEXL
= BBl & BIEIRAE 14 BEEA
*= BRI BIEIRAE 14 BEEA
/= MR EBISIRNS 14 BEEL
%= EER 2B BIEIKNS 14 BEEAL
Bian

int sum=0,a=5;

sum+=5;

printf ("$d\n",sum);//5

sum/=a;

printf ("$d\n", sum);//1

L E 1A SeNE - (Precedence)

[F] — e » 25 [RIRE 515 2 (1 - PR RN 8 #5111y
IR - Bl

x=at+b*c;

FEBER - F AP e O IR bR A - FEECEE 5 R HHIA - 2028
Fia WEE FRVEICIAFY - C AR SHER TEICIEFPUTT R -



BEE crEEEteAPCS

B5TIER BEET BTA)E] Eaft
1 ++,-- BEBERIBEDRE - #1920 at+,a-- © BLEH
- BIBRIBEIRE - F190 ++a,--a BEEA
2 +/- EVESVENE -
! HEEESTE ©
3 * /% Bitgsk - BR ~ BXER - BLESH
4 +,- SN0 ~ R BILES
6 >>=<,<= RIRESERI A/ o BLES
7 === RREBHBENESE - BEES
11 && HEHEDY and ° BEESG
12 I FEEEDY or © BLESL
14 =t=-=%=/=%= | IBIKEESEIK - BEEA

LU B2 H Ry TSR0 FTAD - Sesk U0 BUEJClEf
R 3 MEE T+a HESE 4 < ATl > DUERGHE

x=a+b*c;

i S B

x=(a+ (b*c)) ;

HIZCRAHIR] o [F)2E -

x=a>b && b>z;
Hl RN EIESS

x=(a>b) && (b>z);

.....................
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#include <stdio.h>
#include <stdlib.h>
int main (int argc, char *argvll) {
int a,b,c;
a=1;b=2;b=3;
a=a+a*2/2-3%2;
printf ("%d\n",a);
a=5;b=4;
c= a>2 && ! (b>3) || (a==3);
printf ("%d\n",c);
return O;

}

L ET- 1S & (Associativity)

B[R] — R > AR E S T A AH R B e E P R S -
FHIFR E LEE T2 THAER) WARGH TEEL) ivh
i v o Bl

x=a-b-c;

Ak e JkaiE (<) » BICNEFPAHIR] - BRUHRE sl 2258 i Feii A A > IIEAS
ARl ES » FrALLERIZER

x=((a-b)-c) ;

a=b=c=2;
FRIGHEE RS GG £ 0 AL BT RIZER -
(a=(b=(c=2))) ;

PLERAF > a~b~c HIREREZ 2
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seccsccssccsscssscses

1o A~ SATLU MR - AR TR R -

Z HITHER

#include <stdio.h>

#include <stdlib.h>

int main(int argc, char *argvl[]) {
int a=3,b=2,c=1;
c=a-b-c;
printf ("%$d\n",c);
a=b=c=2;
printf ("a=%d,b=%d, c=%d\n",a,b,c);
return 0;

BH 2 DL b 38 B 7 1Y 3 Al 35E BH AT B 5% hitps:/en.cppreference.
com/w/c #H[H Y TExpressionsJ * 41 F[& :

Expressions

An expression is a sequence of operators and their operands, that specifies a computation.

Expression evaluation may produce a result (e.g., evaluation of 2+2 produces the result 4 ), may generate side-

effects (e.g. evaluation of printf("%sd",4) sends the character '4' to the standard output stream), and may
designate objects or functions.

General

» value categories (lvalue, non-lvalue object, function designator) classify expressions by their values
« order of evaluation of arguments and subexpressions specifies the order in which intermediate results are obtained

Operators
Common operators
assignment élncrement arithmetic| logical |comparison member other
lecrement access
+a
a=bh -a
a+=b a+b
a-=b a-b _
a *= E g a * E :T; E albl EIE(...{]}
a /= . a/ 'a . *a !
a%=b i asb |asb| 27 E &a | ||{type) a
s fo E a-- ?b allb a==Db a—sz sizeof
g A= b : | b a==bh A _Alignof| (since C11)
a =<=h a~b
a === h a << h
a=>b

» operator precedence defines the order in which operators are bound to their arguments

et B2 L&Y Toperator precedence J ° & AJ 1538 & 11 5
JellEfs - AR IE -
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C Operator Precedence

The following table lists the precedence and associativity of C operators. Operators are listed top to bottom, in
descending precedence.

Precedence Operator Description Associativity
++ - - Suffix/postfix increment and decrement Left-to-right
() Function call
1 [1 Array subscripting
Structure and union member access
o> Structure and union member access through pointer
(type){1l1st} |Compound literal(C99)
++ - - Prefix increment and decrement Right-to-left
+ - Unary plus and minus
!~ Logical NOT and bitwise NOT
( type) Type cast
2 ® Indirection {dereference)
& Address-of
sizeof Size-gflnete 1]
_Alignof Alignment requirement(C11)
3 LA Multiplication, division, and remainder Left-to-right
4 + - Addition and subtraction
5 s Bitwise left shift and right shift
6 < <= For relational operators < and = respectively
== For relational operators > and = respectively
7 — For relational = and # respectively

D4-2 EHEI
HE R (Expression)

(A0 —{E w] K15 —(EE R X7 > #RFR A —(EE & = > Hilan »
5+3 e ml—EEE > TRl S+3 @ —EEE S > DI @ — Gk
sE 2 o 58 b B 2B B AU printf( “%d” | EER ) ~ B
1 ifGEE ) ~ BN for( s SEER 1) K whileGEE R ) o —
S - T LU SR A i8 BR 7Y - #nT LIFR s K -

6 ; // 1%=le
445 ; // 1&w=9
sum > 3 ; // &®true or false
a==b; // ®Eltrue or false

a+b; // 18Ea + bAER
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HUl (Statement)

JURHERIFATHINE > ~ BhE F A UDUE B TR 2R - 2] 1
FERGA - AT RURCALAS 2 LL3 5% (5 ) VERGER - a0 > LUT A1
e ERGL » > CAEE M A AT EEGAL R DLy B it R - HI§HRR
A B HERAE T —(EFCLR FHEE o

sum = sum + 1 ;

R BE (Block Statement) 58X & &7t (Compound Statement)

FEAE A A DU b B — R pg i 75 > URESRE R LRkl BE - &Y
2 [t S50 7SR A S - — {18 5 R @ Y M R B 7 T R
R FoR o ABRIESE Z A B 5%

{

oo
(LI
o o

}

Zf:fi# (Comments)

B YRR ZCEE A RE MY IFE XAy T 38 1 - C/C++ 3B S WAL g
FRAT
/* RAZEM x/
/1 RA R
B FRRRLAIR A F B U AR - e R A T e H - =
EE] */ F1E o 3EA o [[l S BERNR (/) RImRy AR SRk -
et oy 2 N T BE PR o AT > LUT 3o s A8 15 et g

x= x+ 3; /* xAEihe3 */
sum = sum + y; // #yZAtiimE sum
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A& IR Rl R 51 - B8 & i 55 BRI EERR - 124 - HI
{EREF AL —51 -

AR B 22 AT

Bk 1w E RRE R - REZUERET S R M HR B 2217 » A e IR
RAGEAD B - WEH 7k (GREEA [Tab §E - A2 31T
e pg . KszagRE))  HEETS2HR) > BT Hig
RN o HR 2247 HIl m {5 B e SEMPAEA - it DL > A EAIHIES S
SPiESERUE - ARRE A BTEIER o

T R A
C BN AU AT T - KRBT R PUR ISR - 53 Bl =051 I ~
S HE S - KAE R ~ R - 41 SRR
] E$a

R . = #include <stdio.h>
)] 60 — ,—}BE =
W SIAER (HAPTEEERE) #include <stdlib.h>
SESNSS

20

int s;

int add (int a, int b ){
int «c;

NN EFE c=a+b;

return (c);

}

int main(int argc, char *argvl[l) {
s = add (6, 2);
F2INE main() printf ("%d", s) ;

return 0;

}

.....................

s pE A DL MR SR TAE R - BERIER T//0 1Rrh feak g -
CIRVENET PN
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// BN AR (RAPERAR)
#include <stdio.h>
#include <stdlib.h>
[/ ERERELE
int s=0;
//BXNTEE
int add (int a, int b ){
int «c;
c =a + b;
return (c);
}
//ERX main() B
int main(int argc, char *argv([]) {
s = add (6, 2);
printf ("%d", s) ;

return 0;

SR A S

A R R e — T T ERT R AR TRy i%E
o AT AV AL - ERARGEE AT

A FR (finite) #Y75B% (step) PTHEAK I 68 & > (K IEUES <
A (input) 1K 5> 0 17 5 {6 BH 7 (definite) H A &% (effective) HY
A B > DU B8 %9 e P s 8 W R RE 5 T AP BRI ST 6 E B AKX R
(terminate) » Mfi ZE “E B ) (output) ©

R S RERINN Y X |

R SRR S =8 - SRR HAREES R S B
HALE - o3 BIEHAA T
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3

PRER S e (A EAM H A AR T S 2R B E RS Y B
RS o I - #5f 4_3c iR RITREZNE R -

R

EHRGE S ARk A — R AROL - T8 & #ig ki SCF =
B ROl IS E A o A - SR 4-3¢ By RN BRI B
LB 7_4a BUHER-EESEE o 8 e RA PR 1A XX FRGL
Ob - RLHE 1A BE A U ] EE AR A o B 1 v S50 B AR R
AR

iy e =i
L REE (flow chart) 5& K1 FH &0 75 SRR ~ #RA5 B i BESF T 5%
2RI WA DR ] R 2L B BT THINELFY » B RO IRAE AT oAl T 3%

HmsT s

N

e
[n]

cl

1 RERIZBRILNBR > IWRRE MG » AIEE—

F
(B )| 0. sessama—r0-

B A\ ERERI BT SR -
ARAIE B A LS BRSE - WRsRE—ADE—B0 -

FRIBTTSR
RRIBNZERRR > IRsRE— ADRE—B0 -

2 true 9¥ false °

BB -
HREEETEREMAIRT - BFEES FTEER

REFT -
4 <i::>> ARFTREDILE - LARNEOEDEME - A5

IR nE2ENEE -

3R
16
R
. ERERISR ©
IS LENEETRABES —EHIERS -
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w5 i =t
; 8RN - (FREAXEHT)
ARFRB—EERET -

T l EIVAQRR °
FRBRELA LGSR - SROFIZTNBVARE -

0 @ REBEEEE -
RERBERBEL -

Tl

RERWBEEENRE -

10 YSZIEI NS MR -

s P A R e 2 s i BLA ) A & 5 5_1a o HR » DL ARFRAR
HHL IR RE - WA AR ML - S i &Y TR 3R
e

ar - MEREZC - w] Dl AR T PR R BT - AT 5 R Bl i

.....................

1. TR A - 35 R A R HOE R IR B o AR IEE
%ﬁg& °

2. TEEWE R o A5 BRI IR B 0 AR IEE R o

3. sREUE HFRIRY 7T i A 0 e I EEEERNE I o
SR/ (1

#include <stdio.h>
#include <stdlib.h>
int main(int argec, char *argvl[]) {
int a=3,b=4;
int c,d;
c=a*b;
d=2* (a+b) ;
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printf ("sd",c);
printf ("sd",d) ;
return 0;

4. & EREE A R e - AT

#include <stdio.h>
#include <stdlib.h>
int main(int argec, char *argvl([]) {
int a=3,b=4;
int c¢,d;
printf ("input a:");
scanf ("%d", &a) ; //#FE &E&
printf ("input b:");
scanf ("%d", &b) ; //FHEEE&
c=a*b;
d=2* (a+b) ;
printf ("@AH=3d\n", c) ;
printf ("JA &=%d\n",d) ;
return 0;

1 A AT LU 2 BRGSO - (BREET S — (A - ol 244
SERTAEE T BLEE - - (HE RS RAGIREC - HIlRE R S
NEFITTEATLL > LUT B #E At & 25 bk o

1 fmARITRIE - &~ & GRS



CIETVERETEEAPCS

i f5l4=3b

ar T2\ TR LU
1. AT DU AR {18 AR o

. AT SRLIL ARG A R o

3. W L R

\9}

1. B scanf("%d,%d",&x1,&y1) H Al A M {HEB T » BA
BN FSERE TLo BRBE » a0 HIE -

2. FHrefHH scanf("%d%d",&x 1, &y 1) 3 A8 i A W B A
a&%ﬁ%%mifa ry Bk e

3. 45 2 1# F scanf("%d%d",x1,y1) i #& 5 A W9 & 8 F > 84
r& g ALwies

1. ERIRIES R ST B (x1,y1),(x2,y2) » HIIH: R Ry 23 2CHY 2

S ER=H .
nng .

d :\/(xl _x2)2+(y1 _y2)2
2. LIEBERESH CEESAIT ¢

d=sqgrt (pow ( (x1-x2) , 2) +pow ( (y1-y2) ,2)) ;



#include <stdio.h>
#include <stdlib.h>
#include <math.h>//A#1E A sqrt, pow % & X
int main(int argc, char *argv[]) {
int x1,vyl,x2,vy2;
double d;
//input
printf ("input x1 yl:");
scanf ("%d, $d", &x1, &yl) ; // B &&
printf ("input x2 y2:");
scanf ("%d, 3d", &x2, &y2) ;
//process
d=sqrt (pow ( (x1-x2) ,2) +pow ( (y1-y2),2));
//output
printf ("The distance of the two points is:%f\n",d);
return 0;

1. BUEEE - HA +-%/, % BUEREL ) » Har B 2R H AR 22 (5
SRR R B B BCER B B R S B A = 8 1 AR 0 A pow()
BRI 0 sqrt() 2FAtRE o

1. A=A =8Ea -b-c> RKHEMEE - (& : it &
d=(a+b+c)/2 » E'J:ﬁl JE i f8 = v/d(d — a)(d — b)(d — ¢) > A< ]
ERE% i A = AT =38 KAl B = A1 - HlandmA 3> 4

HIfS =AIZHTE 6 » (Hili N EAEE =R E T B = AT »
o BANE AT EE — AT GERENE T %)
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HRHUSRAL

=8 —EH RS axtby+e=0 » B p(m,n) FE

\ am+bn+c \

a’ + b?

A p(1,2) BIERRAYEREE - &t DL

a=3;b=4;c=5;

R LS TE R

3x+4y+5=0
KRR LA

m=1;n=2;
I RERS p(1,2) » FrAaaffE=0an T~

#include <stdio.h>

#include <stdlib.h>

#include <math.h>//4% M fabs ()

int main (int argc, char *argvl[]) {
int a,b,c,m,n;
double d;
a=3;b=4;c=5;
m=1;n=2;
d=fabs (a*m+b*n+c) / (sgqrt (a*a+b*b) ) ;
printf ("%$£f",d) ;
return 0;

}

S SEEANE q(1,-2) G AEERR L R E R R

MR GfEEE F—=)

o Y i et 2

(F27 + {3 [m] % e 0 (iE B =X 2 abs() » {8 [0 & U2 fabs()
iE PR EHEEE e E R ERRE AN EEEEE
ax+by+c=0 S L R A o Bl > E AR TR 8 3x+4y+5=0 > 3K



a=3;b=4;c=5;
m=1;n=-2;
if ((a*m+b*n+c)==0)
printf ("yes") ;
else
printf ("no") ;

DAL 3x+4y+5=0 & ANFEAEREE B EFHIRIE » BG4S ab,e
HATHLH)TE LEES ax+by+e=0 » FLHH RS &R Rl SRAL B R B L
b

dfg4=3c
1. B AT A ——7t — KRR MRE (A

FIRER ATl AR TR RIGE —fiR)

BT T R TR AR T

(1) BE—TT KRR -
ax’+bx+c=0

(2) WA ab,c ZIHBL o (AGIRELERETEK)

(3) Frd=b>—dac ° BT WBWMEBES CHES R
d=sqrt(b*b — 4*a*c); » FEYE ~ TR THERY )

@ A ARy = v =T (R
BERZE S 5 C B E B x1=(-b+d)/(2%a) » FEHE ~ TG A
HEH °)

(5) Bl » 2x* — 7x+3=0 » HARF x,=3.0 ,x,=0.5 °
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#include <stdio.h>

#include <stdlib.h>

#include <math.h>

int main (int argc, char *argv[]) {
int a,b,c;//1%#&
double d,x1,x2;
printf ("input a,b,c :");
scanf ("$d, %d, $d", sa, &b, &c) ; // B &&
d=sqgrt (b*b-4*a*c) ;
x1=(-b+d) / (2*a) ; // @ & B ER T GRRIT
x2=(-b-d) / (2*a) ; // @ &M A IER TR
printf ("x1=%£f\n",x1) ;
printf ("x2=%£f\n", x2) ;

return 0;

1. ABIMEER b A B R 80H B O - 7 T — =2 BB Firilan A PR
HIREEHEE -

2. B R —IT RGN I HBC T BL T E— R
[l > AT (HUE A T A AN B - B AT A A
ik AREE ER S - HE 2 AP - RS HER
SERK °

1. H— R > o] Dl A —{d oo — X7 > MRHEAE (K
BilERa% Friim AR /7RG H —88) - e > T — RUTREE(
HOPGA=RE/ (N NG S TR VA /N
(1) & e — XA -

a,x+byy=c

a,x+b,y=c,



Ems Ezzngst R

(2) HA albl,cl,a2,b2,c2 /EFEE, o (ABIERRLFERETFEZ)
AN a b1
(3) 47d= =a;b,—a)b, °
a, b,
c, b
(4) HISERRA IR 5= 22 (e, c,b,)/a
a, ¢
a, ¢, ( 1
y=—"7"7"=(a,C, —a,C
(5) WIJ;ZI] ’ 3x—|—y:5 d 1~2 241
X — 2y:_3
HIFLAR S x=1 y=2

.....................

it ot —RGREIC B @ e BRI R BsaA Rk - @A
TGP - (Hn] DU LTS o (HR At 7 ST &
ik AlSEEAAHPIET - EEGETEMmS - EkE S ERE T

difsila-3d

AR WL -
1. AT LU A R -

2. UL RIEBE -

3. WA HRES BL -

.....................

o ek S PN 25 2 A 4R o kT[] 6 S ) BV A ML [ o P
DR ARE ab METF » Z& KRG > BELHHIEN T
BT

1. EHKREIEF o

2. 1 a WIERVEACHS t TIAF o

t=a,
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3. % b HYRPEACHT a

a=b;
4. 1% ¢ HUERPGACHE b o 5 R & T PG R3S -
b=t;

5. HR - HARILHOKRE =2 F « HIC - LA EEGETT
[ HSF 4 B T B0 > PR RIRF (S — T RYBRPY » 40 LL FRlod -

a=b;

b=a;
6. & mie— s R AE - EE N E R R A -
IELER
B2NFIED

#include <stdio.h>
#include <stdlib.h>
int main (void)
{
//declare
int a, b, t;
//input
printf ("input a,b: "):;
scanf ("%d, %d", s&a,é&b);
/* swap */
t=a;
a=b;
b=t;
//output
printf ("after swap a=%d , b=%d", a, Db):

return O0;



1. WA S(EE o G 1 5552 2 TS 3 0 3 ACHS 1 0 AilgiHY o

jul

Iy [ 72 B9 &F 5o R e B — 1K 3 /€ h1=3,m1=20 & A -
h2=5,m2=10 #thH - 35 H 2] LIEH S HAZ R[]

o 2 W I RS (D2 RO EF 5 - /NERE IR ZUEE » 45 o0 B AN 4 24
O - HEM R - EREE R I8 o wlr Ak o 352 M {E H
W7 Al el m s R H > BRRS R H RS 7 = o Fr LI
FEFCERET > A T 1 15 A R ol o G A S B ST

HR > e BOE A AR R R HE R HE - (R R RIR R B 2
o B AR TRy Fonpiths - AT RIASE ~ A~ H3R
o W TEH HIEF R (278G NBK - EAEE R — {5
B TEb Y 7 BLE R AT - GHAERER DL T o5 ol & D -

int main(int argc, char *argvl[l) {

int hl1=3,ml1=20;

int h2=5,m2=10;

int t1,t2,t,h,m;

tl=h1*60+ml;

t2=h2*60+m2;

t=t2-tl;

h=t/60;

m=t %60;
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printf ("t=%d %, ¥# %d:%d",t,h,m);
return O;

Hof54=31;

(B3R SR Bl A AT T
55~66~77~88 99
(1) FHE AW ALL EZH -
(2) FHEHEA -
(3) Wi RIE T -

int main(int argc, char *argvl([]) {

int a,sum=0;
printf ("input number:") ;
scanf ("%d", &a) ;

sum=sum+ta;

printf ("input number:") ;
scanf ("%d", &a) ;

sum=sum+a;
printf ("input number:");
scanf ("%d", &a) ;

sum=sum+a;

printf ("input number:") ;



42 ]

scanf ("%d", &a) ;

sum=sum+a;

printf ("input number:");
scanf ("%d", &a) ;

sum=sum+a;

printf ("The sum is %d,The average is%d",sum,sum/5) ;
return 0;

L APIRE s FER - BAMEER - BUOIRF 505 &F
10000 2 » FEA gk FRICAE AR ATAD » G5 R0 - FPE R
N~ R Bl O — R R AR > e ERRRARA

1. M AGERE— (Y ~ BB e EEA N5 3RET —(E 2
B> FFELHCRES - (AT > b 24 R B BN T » 25
B d=vot+gt’/2 > APELEEREM A vo,t > 3R T B g o i H EE R
d-

2. FHr VYR 1A 0 2 9 YRR - MR E & OF 1 (AR
Bian - dwmA 1 EA 2 0 A 3 #A 4 0 Bl 1234 -

3. [A R RE - FEJeH A 3 {E o B o WyEEs » P A RI{E 0 F 9
R > IS OF B 1 (ERP B - 5140 > fA 1 f@A 2 o
A 3 WA 40 A 5 o HillgH 123.45 -

4. FEA AR 4 78 o SR R AT al*10°+a2%10°+a3%10'+ad ©
Blan - g A 1234 > HlfgH 1%10° + 2%10° + 3*10' + 4 ©
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i f34=3g

PRI  FH T o TR 1000 TERS > 3FSEHTHR 1
19 88 > A LG 5 4 80 5% S R 77 3 H8% © (APCS105
)

1. LU %l aldEn sk

#include <stdio.h>
#include <stdlib.h>
int main(int argc, char *argv([]) {
int Total, Paid, Change;
Total=122;
Paid=1000;
Change=Paid-Total;
printf ("Change=%d\n", Change) ;
printf ("500 : %d pieces\n", (Change-Change%500)/500) ;
Change=Change$%500;
printf ("100 : %d pieces\n", (Change-Change%100)/100) ;
Change=Change%100;
// A B
printf ("50 : %d coins\n", (Change-Change%50)/50) ;
Change=Change$%50;
// B B
printf ("10 : %d coins\n", (Change-Change%10)/10);
Change=Change%10;
// C B
printf ("5 : %d coins\n", (Change-Change%5)/5);
Change=Change%5;
// D E
//printf ("1l : %d coins\n", (Change-Change%1l)/1);
printf ("1 : %d coins\n", Change);
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//Change=Change%1;
return 0;

REASYREEAER > HEEET 7 H—E
iE bk EL B RE - T DI NE AT -

#include <stdio.h>
#include <stdlib.h>
int main ()

{

}

int a=1000;

int b=22;

int c=a-b;

int a500=c/500;
c=c-500*a500;

int al00=c/100;
c=c-100*al00;

int a50=c/50;
c=c-50*a50;

int al0=c/10;
c=c-10*alo0;

int ab5=c/5;

c=c-5*a5;

int al=c;//#|TF&—EI#5
printf ("the change is %d\n",a-b);

printf ("500:%d\n",a500) ;
printf("100:%d\n",al00) ;
printf ("50:%d\n",a50) ;
printf("10:%d\n",alo0) ;
printf ("5:%d\n",a5) ;
printf("1:%d\n",al) ;

return 0;

3. Dl Edmbas RAan T

REWNTERS - LLEXEaEEE  WERE—JI T L &
1o B —{l fR AR

4-31
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D4-4 APCSER=EE

1. A5 HUFRE ORGS0 T i el SR A AT 2 105/10/04
(A)3 int a=2, b=3;
(B)4 int c=4, d=5;
int val;
(0©)5
val = b/a + c¢/b + d/b;
(D)6 printf ("%d\n", val);

SERES
b R B R R B B R B A e B - BT LA — e e I > AT LA

EEE (A) -

2. 1 @% x,y,z 5 1 K (boolean) 8 % > H x=TRUE, y=TRUE,
z=FALSE ° & [d I [ & 11 bk 52Xy 5 (R E 6K R 74?2
(TRUE Z1H °» FALSE %{K) 105/10/14
Wy [l 2) ] x
ly || (z ]| %)
z|| (x && (y || 2))
x| x) && z
(A) TRUE FALSE TRUE FALSE
(B) FALSE FALSE TRUE FALSE
(C) FALSE TRUE TRUE FALSE
(D) TRUE TRUE FALSE TRUE

SERE
R A MNE . FE
1B e e P Bl i 5 et

puilt
AN

/

1 BT > A< HE B % Bt 8 53 5L S SRR I
s

>

Bl
b

P
P
>
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3. THIREAXE R H B EHCEEE K55 2 = {8 ==
S B 53 I £ Total (W5 E #8%H) > Paid (H R X {T&%H) >
Change (FZEEFH ) - (RN BRETUERIIE S - 35
HTCERAE B Y (R - 105/10/19
(A) TUBRTEUSAE A I (B) TUBRTENIBAE B [®
(O) TUERIZ:NIBAE C & (D) TUERFE=NIBAE D [

int Total, Paid, Change;

Change = Paid - Total;
printf ("500 : %d pieces\n", (Change-Change%500)/500);
Change = Change % 500;

printf ("100 : %d coins\n", (Change-Change%100)/100);
Change = Change % 100;

// A B
printf ("50 : %d coins\n", (Change-Change%50)/50);
Change = Change % 50;

// B E
printf ("10 : %d coins\n", (Change-Change%10)/10);
Change = Change % 10;

// Cc B

printf ("5 : %d coins\n", (Change-Change%5)/5);
Change = Change % 5;

// DB

printf ("1 : %d coins\n", (Change-Change%1)/1):;
Change = Change % 1;

il

SEmE
4 5 JThESE LUR » SRR ARVNAER 4 7 0 IREE— Y
Wom T o FTLL TD R 2% 8k -

4. IR X, R X EEBTFIE n AL > G5 DO2A, + 5487, 5
%52 105/10/22
(A) 1100 0101 1001 1001, (B) 162631
(C) 58787, (D) F599,
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SEBRE
A REHUP A B A 5 > AT B R -
AT >+ SN ABCDEF 479 Al 6 75 10,11,12,13,14,15 »
it LL DO2A ,(+5487,,
=13*16’+0*16°+2%16'+10*16"+5487=53290+5487=58777
162631
=1*8’+6*8"+2*8°+6*8°+3*8'+1=58777
5. & A1l ~ Al2] > FTA[B] 7y Al & B ST ARy = {# oo 3%
(element) » [ ZIABWEAE =CF B vl LURF AL1] #1 A[2] B2 2E
i ? 106/03/11
(A) Al1]=Al2]; A[2]=A[1];
(B) A[3]1=Al1]; Al1]l=Al[2]; Al2]=A[3];
(C) Al2]1=Al1]; A[3]=AIl2]; Al1]=A[3];
(D) LA 7]

SERE

LY R o {3 S 5 #8 » G5 B #f 4-3d ©

6. %K rand(O) B EME{E S — T 12 0 #1 10000 ZfEELE » T
A1) HR {18 38 B 2 nT A AR A 72 100 AT 1000 Z E TS (&
100 #11 1000) ? 106/03/12
(A) rand() % 900 + 100
(B) rand() % 1000 + 1
(C) rand() % 899 + 101
(D) rand() % 901 + 100
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Ut RE R B T RE - (R
0<=rand()<=10000
0%901<=rand() %901<=10000%901// KZ#} %901
0<=rand()%901<=900
0+100<=rand()%901+100<=900+100// KZZ &L 100
100<=rand()%901+100<=1000

7. 5 ELER AR 0 (X || X)) ATEAS R E (True) » HI X, B X,
HI{E 73 B HE 5 4R] 2 106/03/21
(A) X, % False * X, f% False (B) X, f% True * X, £% True
(C) X, % True * X, % False (D) X, £ False * X, £ True

2&%@3& S ——CAEE - FEF 4 1 #igt T #E (A)

8. #a b,c,d e ¥ERE S T YR GG F A R e
a+b*c-e G E A RAHE ? 106/03/25
(A) (((a+b)*c)-e)  (B)((at+b)*(c-¢))

(C) ((a+(b*c))-e) (D)(at+((b*c)-e))

SERE
U 57 N » ek O R » 3 41
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BARNGERE - (HiE b A rellba 24 ¥ A E IR R - 35
MR ERHESR  BAEBRRITILAER - St gD - X
PUT & C++ 1= - gt AR - cout @l » FREACH

#include <iostream>
using namespace std;

\

endl 5& Bk — F1] 357 (0 B B 738 » 35 HE R o HES 2R R H A
IF > e TC++a > HERESMHIE -

RE5R = EEES
1. //Arithmetic Operator

//The Precedence of Arithmetic

//The Associativity of Arithmetic

#include <iostream>

using namespace std;

int main(int argc, char** argv) {
int a=1,b=2,c=3,d=4,e=5;
cout<<a*b-c*-d<<endl;
cout<<a/b*c+d+ ++e<<endl;
a=(b=2)+(c=3) ;
cout<<a<<endl; //ERIERTEXE

a=1;b=2;c=3;
at+=b+=c+=5;
cout<<"a="<<a<<endl;
cout<<"b="<<b<<endl;
cout<<"c="<<c<<endl;

a=1l;b=2;c=3;
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}

a=++b + ++c;

cout<<a<<", "<<b<<","<<c<<endl;
a=b++ +ct++;
cout<<a<<", "<<b<<", "<<c<<endl;
a=++b + c++;

cout<<a<<", "<<b<<",6 "<<c<<endl;
a=b-- + —--c;

cout<<a<<", "<<b<<","<<c<<endl;

a=1;b=2;c=3;

d+=b+c;
cout<<"d="<<d<<endl;
d*=a=b+5;
cout<<"d="<<d<<endl;

return 0;

//Relational Operator

#include <iostream>

using namespace std;

int main(int argc, char** argv) {

int a=1;

cout<< (a>4)<<endl;
cout<< (a>=0) <<endl;
cout<< (a==1)<<endl;
cout<< (a=5) <<endl;
cout<< (a!=1)<<endl;
//cout<< (a=>4)<<endl;
//cout<<(a=!5)<<endl;
int a=1,b=2,c=3,d=4,e=5;
c=(a+3)==b;
cout<<c<<endl;
c=(a+l)==b;
cout<<c<<endl;

return 0;
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3. #include <iostream>

using namespace std;

//Logital Operator

//The Precedence of Logical

//The Associativity of Logical

int main(int argc, char** argv) {
int a=5,b=4,c=3,d=2,e=1;
cout<<((a!=b) & (b>=3))<<endl;
cout<<((a!=b) ~ ! (b>=3))<<endl;
cout<< (! (a!=b) | ! (b>=3))<<endl;
cout<<((a==1 )& (a>0) && (b>=2)<<endl;
cout<<((a==1 ) |
cout<< ((a==

~(c==3))<<endl;
return 0;

1 )11 (a>0) s&&

}

(a>0) & (b>2) ~(c==3))<<endl;

(b>2)

4. //The Bitwise Operator °> #{L/LEHF

#include <iostream>

using namespace std;

int main(int argc, char** argv) {
int a=3,b=-2,c=3,d=4;
cout<<~a<<endl;
cout<<~b<<endl;
cout<< (a<<2)<<endl;//E#B24E7
cout<< (a>>2) <<endl;//AE#24ET
cout<< (b<<2)<<endl;
cout<< (b>>2) <<endl;
cout<<(a & b)<<endl;//&AitandEF
cout<<(a | b)<<endl; //ZfETor&EHEK
cout<<(a » b)<<endl; BAEALFREHF
cout<<(a & b | ¢ *~ d)<<endl;
a<<=3; //EH3EA  BHD
cout<<a<<endl;
b>>=2;
cout<<a<<endl;
return 0;

}

5. #include <iostream>
using namespace std;
int main(int argc, char** argv) {
int a=4;b=5,t;
t=aj;a=b;b=t;
cout<<a<<endl;
cout<<b<<endl;
return 0;
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BENRTEEEBERMEEN BBEZNRT, - MBS0 T -
A=AL6=a+bi
_ s Ad=Aa’+b
6’=tan‘12
a

a=Acos 6 ,b=Asin 0

1. FBRET—EREI 0 TR EREIZERMEERR - HI20 > @A 3+4i
o183 5 £ 60 - (=FBNENEES 8-1 H))

2. BRET—EEN IUSBEZEBEREBEZ - fl20 > @A
5 2 30 OJ{SE) 4+3i °

3. s st—i2I\ 0 JLSTEMBELMRET (3+4) RREVEEBII0 -
BT’ BREEE o B P=a+bi,0=c+di, BILA TBE5EN
N
(1) P+0 =(atc)H(b+d)i
) P —Q =(a-c)+(b-d)i
(3) P*Q =(ac-bd)+(ad+bc)i
(4) P/0Q =((ac+bd)+(bc-ad))i/(a*a+d*d)

4. FBRET—ZIN > TLUSTEMBE BTN (5 £ 30) R REVEZBII0 -
B~ TR~ BREEE - BRERP=r1£6,0=r226,8ILA SBEFHEUT -
(1) P+QEP-Q BB BANERITETR > BENR - REBE

IR, o
) P*Q =(r*r,) £ (0 + 6 ,)
(3) PO =(r/r) £ (0 -6 )






